| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

(7] (%]
Q@ o
O ~
= D
3

a 10 3]
£ 2
X ()]
[&] C
S :
- 2 O

10 o

10

1es RS R
.QJ..UU:-T - 9 :||||:||||:||||:||||:|||l|||:||||:|||:||||:||||
g | | §
e H I ) NSO SRRSO JOUR 01U SO | U SUURO SO
L 5 0.8

0955 20-15-10 -5 0 5 10 15 20 25 B T50-15-10 =5 0 5 10 15 20 25

TP dxy (cm) TP dxy (cm)
—=— DQM_mkFit_TToriginal
| N of simulated track —— DQM_mkFit_TT_JanUpdate-noErr
—— DQM_mkFit_TT_JanUpdate-noErr1H

(70} [7g)
o) < O SOt OO URURROUNS SRR
Q =
-o% 8 L
3
QL 10 O
2 E
XX (%)
[&] c
: :
- 2 O
10 o

10 T

=
I

Ratio

30 20 -10 0 10 20 30 30 20 <10 0 10 20 30
TP dz (cm) TP dz (cm)



	Contents
	Page 1


